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Find the perimeter and area of the figure:
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Identify all you can
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Products of Consecutive Numbers

1. The product of two positive consecutive
integers is 56. Find the integers.
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2. The product of two negative consecutive
odd integers is 99. Find the integers.
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3. Find two consecutive positive even
integers such that the square of the

smaller]is 10 more than the larger.
xfz‘%tfp = |OHX+2)
_K‘lz- \&\\—% ac=—12

x —~—12—0 3|4
(YF42REA%-1D=
Xt D) -4 D=
(Y (D=0
X=4=p Xt3=0
Y\ X3
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Find the number(s).
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You Try:
1. The product of two negative

consecutive integers is 420. Find the integers.

X(x+ 1) =420
x> +x =420
-21,-20 X’ +x-420=0

(x* + 21x)(-20x - 420) = 0
X(x+21)-20(x+21)=0
(x-20) (x+21)=0

x-20=0 x+21=0
x=20 x=-21













